Fitted data from smooth regression models for age-specific
fecundity.
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Additional file 5. Age-specific fecundity data had to be smoothed to generate values for each single-year
age class in the survival dataset to generate the life table and carry out further analyses. It was not clear
what value should be used for the degrees of freedom, in order words how smooth the plots should be,
so we generated curves under ten different scenarios for the degrees of freedom; a: df=2.1, b: df=2.9, c:
df=3.7, d: df=4.5, e: df=5.3, f: df=6.1, g: df=6.9, h: df=7.7, i: df=8.5, j: df=8.9. The plot on the left
shows the curves for the combined dataset and the plots on the right show the curves for the separate
datasets.





